

INTEGRAL INEQUALITIES OF EXTENDED SIMPSON'S TYPE FOR (α, m) - ε -CONVEX FUNCTIONS

JUN ZHANG, ZHI-LI PEI, GAO-CHAO XU, XIAO-HUI ZHOU, AND FENG QI

Dedicated to Y. J. Cho on the occasion of his 65th birthday

1. INTRODUCTION

The following definition is well known in the literature:

Definition 1.1. A function $f : I \subseteq \mathbb{R} = (-\infty, +\infty) \rightarrow \mathbb{R}$ is said to be convex function if

$$f(tx + (1-t)y) \leq tf(x) + (1-t)f(y) \quad (1.1)$$

holds for all $x, y \in I$ and $t \in [0, 1]$.

Definition 1.2 ([5]). Let X be a real linear space and $D \subseteq X$ be a convex set and $f : D \rightarrow \mathbb{R}$ be a mapping on D , for any constant $\varepsilon \geq 0$, then $f(x)$ is said to be a ε -convex on D , if satisfies the following inequality

$$f(tx + (1-t)y) \leq tf(x) + (1-t)f(y) + \varepsilon \quad (1.2)$$

holds for all $x, y \in D$ and $t \in [0, 1]$.

In [11] the concept of m -convex functions below was innovated.

Definition 1.3 ([11]). For $f : [0, b] \rightarrow \mathbb{R}$, and $b > 0$ and $m \in (0, 1]$, if

$$f(tx + m(1-t)y) \leq tf(x) + m(1-t)f(y)$$

is valid for all $x, y \in [0, b]$ and $t \in [0, 1]$, then we say that f is an m -convex function on $[0, b]$.

Definition 1.4 ([7]). For $f : [0, b] \rightarrow \mathbb{R}$, and $b > 0$ and $(\alpha, m) \in (0, 1]^2$, if

$$f(\lambda x + m(1-\lambda)y) \leq \lambda^\alpha f(x) + m(1-\lambda^\alpha)f(y) \quad (1.3)$$

is valid for all $x, y \in [0, b]$ and $\lambda \in [0, 1]$, then we say that $f(x)$ is a (α, m) -convex function on $[0, b]$.

2010 *Mathematics Subject Classification.* Primary 26A51, 26D15; Secondary 41A55.

Key words and phrases. extended Simpson's type integral inequality; (α, m) - ε -convex function.

This paper was typeset using $\mathcal{A}\mathcal{M}\mathcal{S}\text{-}\mathcal{L}\text{A}\text{T}\text{E}\text{X}$.

Theorem 1.1 ([1, Theorem 2.2]). *Let $f : I^\circ \subseteq \mathbb{R} \rightarrow \mathbb{R}$ be a differentiable mapping on I° , $a, b \in I^\circ$ with $a < b$. If $|f'|$ is convex on $[a, b]$, then the following inequality holds:*

$$\left| \frac{f(a) + f(b)}{2} - \frac{1}{b-a} \int_a^b f(x) dx \right| \leq \frac{(b-a)(|f'(a)| + |f'(b)|)}{8}. \quad (1.4)$$

Theorem 1.2 ([8, Theorem 1 and 2]). *Let $f : I \subseteq \mathbb{R} \rightarrow \mathbb{R}$ be differentiable on I° , $a, b \in I$ with $a < b$. If $|f'|^q$ is convex on $[a, b]$ and $q \geq 1$, then*

$$\left| \frac{f(a) + f(b)}{2} - \frac{1}{b-a} \int_a^b f(x) dx \right| \leq \frac{b-a}{4} \left(\frac{|f'(a)|^q + |f'(b)|^q}{2} \right)^{1/q}. \quad (1.5)$$

and

$$\left| f\left(\frac{a+b}{2}\right) - \frac{1}{b-a} \int_a^b f(x) dx \right| \leq \frac{b-a}{4} \left(\frac{|f'(a)|^q + |f'(b)|^q}{2} \right)^{1/q}. \quad (1.6)$$

In [2], the following Hermite-Hadamard type inequality for m -convex functions was proved.

Theorem 1.3 ([2]). *Let $f : \mathbb{R}_0 \rightarrow \mathbb{R}$ be m -convex and $m \in (0, 1]$. If $f \in L_1([a, b])$ for $0 \leq a < b < \infty$, then*

$$\frac{1}{b-a} \int_a^b f(x) dx \leq \min \left\{ \frac{f(a) + mf(b/m)}{2}, \frac{mf(a/m) + f(b)}{2} \right\}. \quad (1.7)$$

In this paper, we will introduce a new concept “ (α, m) - ε -convex function” and establish some integral inequalities of Simpson’s type for (α, m) - ε -convex functions.

2. DEFINITION AND LEMMAS

Now we give a definition of the called (α, m) - ε -convex functions.

Definition 2.1. For $f : [0, b^*] \rightarrow \mathbb{R}$ and $(\alpha, m) \in (0, 1]^2$, for any constant $\varepsilon \geq 0$, then f is said to be a (α, m) - ε -convex on I , if

$$f(tx + m(1-t)y) \leq t^\alpha f(x) + m(1-t^\alpha)f(y) + \varepsilon \quad (2.1)$$

holds for all $x, y \in [0, b^*]$ and $t \in [0, 1]$.

Remark 1. (1) If f is (α, m) - ε -convex on $[0, b^*]$ and $\alpha = 1$, then we say that f is an m - ε -convex on $[0, b^*]$.

(2) If f is (α, m) - ε -convex on $[0, b^*]$ and $\alpha = m = 1$, then it is ε -convex on $[0, b^*]$.

To establish some new extended Simpson’s type inequalities for (α, m) - ε -convex functions, we need the following lemmas.

Lemma 2.1. *Let $f : I \subseteq \mathbb{R} \rightarrow \mathbb{R}$ be a differentiable function on I° , $a, b \in I^\circ$ with $a < b$. If $f' \in L_1([a, b])$ and $\lambda \geq 0$, and $n \in \mathbb{N}_+$, then*

$$\frac{1}{n(\lambda+2)} \left[f(a) + 2 \sum_{k=1}^{n-1} f(x_{2k}) + \lambda \sum_{k=1}^n f(x_{2k-1}) + f(b) \right] - \frac{1}{b-a} \int_a^b f(x) dx$$

$$\begin{aligned}
&= \frac{b-a}{4n^2} \left[\sum_{k=1}^n \int_0^1 \left(\frac{\lambda}{\lambda+2} - t \right) f'(tx_{2k-2} + (1-t)x_{2k-1}) dt \right. \\
&\quad \left. + \sum_{k=1}^n \int_0^1 \left(\frac{2}{\lambda+2} - t \right) f'(tx_{2k-1} + (1-t)x_{2k}) dt \right]. \tag{2.2}
\end{aligned}$$

In particular, we have

(1) if $\lambda = 4$, then

$$\begin{aligned}
&\frac{1}{6n} \left[f(a) + 2 \sum_{k=1}^{n-1} f(x_{2k}) + 4 \sum_{k=1}^n f(x_{2k-1}) + f(b) \right] - \frac{1}{b-a} \int_a^b f(x) dx \\
&= \frac{b-a}{4n^2} \left[\sum_{k=1}^n \int_0^1 \left(\frac{2}{3} - t \right) f'(tx_{2k-2} + (1-t)x_{2k-1}) dt \right. \\
&\quad \left. + \sum_{k=1}^n \int_0^1 \left(\frac{1}{3} - t \right) f'(tx_{2k-1} + (1-t)x_{2k}) dt \right]; \tag{2.3}
\end{aligned}$$

(2) if $\lambda = 0$, then

$$\begin{aligned}
&\frac{1}{2n} \left[f(a) + 2 \sum_{k=1}^{n-1} f(x_{2k}) + f(b) \right] - \frac{1}{b-a} \int_a^b f(x) dx \\
&= \frac{b-a}{4n^2} \left[\sum_{k=1}^n \int_0^1 (-t) f'(tx_{2k-2} + (1-t)x_{2k-1}) dt \right. \\
&\quad \left. + \sum_{k=1}^n \int_0^1 (1-t) f'(tx_{2k-1} + (1-t)x_{2k}) dt \right], \tag{2.4}
\end{aligned}$$

where $x_k = a + \frac{k(b-a)}{2n}$ ($k = 0, 1, \dots, 2n$).

Proof. By integration by parts, the result is followed. The proof is completed. $\square$

By taking $n = 1$ in Lemma 2.1, we have the following identities.

Lemma 2.2. Let $f : I \subseteq \mathbb{R} \rightarrow \mathbb{R}$ be a differentiable function on I° , $a, b \in I^\circ$ with $a < b$. If $f' \in L_1([a, b])$ and $\lambda \geq 0$, then

$$\begin{aligned}
&\frac{1}{\lambda+2} \left[f(a) + \lambda f\left(\frac{a+b}{2}\right) + f(b) \right] - \frac{1}{b-a} \int_a^b f(x) dx \\
&= \frac{b-a}{4} \left[\int_0^1 \left(\frac{\lambda}{\lambda+2} - t \right) f' \left(ta + (1-t)\frac{a+b}{2} \right) dt \right. \\
&\quad \left. + \int_0^1 \left(\frac{2}{\lambda+2} - t \right) f' \left(t\frac{a+b}{2} + (1-t)b \right) dt \right].
\end{aligned}$$

If letting $\lambda = 0$ in Lemma 2.2, we can obtain

Lemma 2.3 ([1, p. 91, Lemma 2.1]). *Let $f : I \subseteq \mathbb{R} \rightarrow \mathbb{R}$ is differentiable on I° . If $f' \in L_1([a, b])$ for $a, b \in I$ with $a < b$, then*

$$\frac{f(a) + f(b)}{2} - \frac{1}{b-a} \int_a^b f(x) dx = \frac{b-a}{2} \int_0^1 (1-2t)f'(ta + (1-t)b) dt. \quad (2.5)$$

3. SOME NEW INTEGRAL INEQUALITIES OF SIMPSON'S TYPE

In this section, the integral inequalities of Simpson's type related to (α, m) - ε -convex function are discussed.

Theorem 3.1. *Let $f : \mathbb{R}_0 = [0, +\infty) \rightarrow \mathbb{R}$ be differentiable function on $\mathbb{R}_0$, $a, b \in \mathbb{R}_0$ with $a < b$, and $f' \in L_1([a, b])$. If $|f'|^q$ is (α, m) - ε -convex on $[0, \frac{b}{m}]$ for constant $\varepsilon \geq 0$, $\lambda \geq 0$, $(\alpha, m) \in (0, 1]^2$ and $q \geq 1$, then*

$$\begin{aligned} & \left| \frac{1}{\lambda+2} \left[f(a) + \lambda f\left(\frac{a+b}{2}\right) + f(b) \right] - \frac{1}{b-a} \int_a^b f(x) dx \right| \\ & \leq \frac{b-a}{4} [C(\lambda)]^{1-\frac{1}{q}} \left\{ \left[A(\alpha, \lambda) |f'(a)|^q + m(C(\lambda) - A(\alpha, \lambda)) \left| f'\left(\frac{a+b}{2m}\right) \right|^q + \varepsilon C(\lambda) \right]^{\frac{1}{q}} \right. \\ & \quad \left. + \left[B(\alpha, \lambda) \left| f'\left(\frac{a+b}{2}\right) \right|^q + m(C(\lambda) - B(\alpha, \lambda)) \left| f'\left(\frac{b}{m}\right) \right|^q + \varepsilon C(\lambda) \right]^{\frac{1}{q}} \right\}, \quad (3.1) \end{aligned}$$

where

$$A(\alpha, \lambda) = \frac{[2\alpha(\lambda+2) + 4](\lambda+2)^\alpha + \lambda^2(2\lambda^\alpha - (\lambda+2)^\alpha)}{(\alpha+1)(\alpha+2)(\lambda+2)^{\alpha+2}}, \quad (3.2)$$

$$B(\alpha, \lambda) = \frac{(\alpha\lambda + \lambda - 2)(\lambda+2)^{\alpha+1} + 2^{\alpha+3}}{(\alpha+1)(\alpha+2)(\lambda+2)^{\alpha+2}}, C(\lambda) = \frac{\lambda^2 + 4}{2(\lambda+2)^2}. \quad (3.3)$$

Proof. Since $|f'|^q$ is (α, m) - ε -convex function on $[0, \frac{b}{m}]$, from the Lemma 2.2 and Hölder's integral inequality, we have that

$$\begin{aligned} & \left| \frac{1}{\lambda+2} \left[f(a) + \lambda f\left(\frac{a+b}{2}\right) + f(b) \right] - \frac{1}{b-a} \int_a^b f(x) dx \right| \\ & \leq \frac{b-a}{4} \left[\int_0^1 \left| t - \frac{\lambda}{\lambda+2} \right| \left| f'\left(ta + (1-t)\frac{a+b}{2}\right) \right| dt \right. \\ & \quad \left. + \int_0^1 \left| t - \frac{2}{\lambda+2} \right| \left| f'\left(t\frac{a+b}{2} + (1-t)b\right) \right| dt \right] \\ & \leq \frac{b-a}{4} \left\{ \left(\int_0^1 \left| t - \frac{\lambda}{\lambda+2} \right| dt \right)^{1-\frac{1}{q}} \left[\int_0^1 \left| t - \frac{\lambda}{\lambda+2} \right| \left(t^\alpha |f'(a)|^q \right. \right. \right. \\ & \quad \left. \left. + m(1-t^\alpha) \left| f'\left(\frac{a+b}{2m}\right) \right|^q + \varepsilon \right) dt \right]^{\frac{1}{q}} + \left(\int_0^1 \left| t - \frac{2}{\lambda+2} \right| dt \right)^{1-\frac{1}{q}} \right. \\ & \quad \left. \times \left[\int_0^1 \left| t - \frac{2}{\lambda+2} \right| \left(t^\alpha \left| f'\left(\frac{a+b}{2}\right) \right|^q + m(1-t^\alpha) \left| f'\left(\frac{b}{m}\right) \right|^q + \varepsilon \right) dt \right]^{\frac{1}{q}} \right\} \end{aligned}$$

$$\begin{aligned}
&= \frac{b-a}{4} [C(\lambda)]^{1-\frac{1}{q}} \left\{ \left[A(\alpha, \lambda) |f'(a)|^q + m(C(\lambda) - A(\alpha, \lambda)) \left| f' \left(\frac{a+b}{2m} \right) \right|^q + \varepsilon C(\lambda) \right]^{\frac{1}{q}} \right. \\
&\quad \left. + \left[B(\alpha, \lambda) \left| f' \left(\frac{a+b}{2} \right) \right|^q + m(C(\lambda) - B(\alpha, \lambda)) \left| f' \left(\frac{b}{m} \right) \right|^q + \varepsilon C(\lambda) \right]^{\frac{1}{q}} \right\}.
\end{aligned}$$

The proof of Theorem 3.1 is thus completed. $\square$

Corollary 3.1.1. *Under the assumptions of Theorem 3.1, if $\lambda = 0$, then*

$$\begin{aligned}
&\left| \frac{f(a) + f(b)}{2} - \frac{1}{b-a} \int_a^b f(x) dx \right| \\
&\leq \frac{b-a}{8} \left\{ \left[\frac{2}{\alpha+2} |f'(a)|^q + \frac{\alpha m}{\alpha+2} \left| f' \left(\frac{a+b}{2m} \right) \right|^q + \varepsilon \right]^{\frac{1}{q}} \right. \\
&\quad \left. + \left[\frac{2}{(\alpha+1)(\alpha+2)} \left| f' \left(\frac{a+b}{2} \right) \right|^q + \frac{\alpha m(\alpha+2)}{(\alpha+1)(\alpha+2)} \left| f' \left(\frac{b}{m} \right) \right|^q + \varepsilon \right]^{\frac{1}{q}} \right\}. \quad (3.4)
\end{aligned}$$

Theorem 3.2. *Let $f : \mathbb{R}_0 \rightarrow \mathbb{R}$ be differentiable function on $\mathbb{R}_0$, $a, b \in \mathbb{R}_0$ with $a < b$, and $f' \in L_1([a, b])$. If $|f'|^q$ is (α, m) - ε -convex on $[0, \frac{b}{m}]$ for constant $\varepsilon \geq 0$, and $(\alpha, m) \in (0, 1]^2$ and $q \geq 1$, then*

$$\begin{aligned}
&\left| \frac{f(a) + f(b)}{2} - \frac{1}{b-a} \int_a^b f(x) dx \right| \\
&\leq \frac{b-a}{4} \left[\frac{2(2^\alpha \alpha + 1) |f'(a)|^q + m(2^\alpha(\alpha^2 + \alpha + 2) - 2) |f'(b/m)|^q}{2^{\alpha+1}(\alpha+1)(\alpha+2)} + \frac{\varepsilon}{2} \right]^{\frac{1}{q}}. \quad (3.5)
\end{aligned}$$

Proof. Since $|f'|^q$ is (α, m) - ε -convex function on $[0, \frac{b}{m}]$, by the Lemma 2.3 and Hölder's integral inequality, we have

$$\begin{aligned}
&\left| \frac{f(a) + f(b)}{2} - \frac{1}{b-a} \int_a^b f(x) dx \right| \\
&\leq \frac{b-a}{2} \int_0^1 |1-2t| |f'(ta + (1-t)b)|^q dt \\
&\leq \frac{b-a}{2} \left[\int_0^1 |1-2t| dt \right]^{1-\frac{1}{q}} \left[\int_0^1 |1-2t| [t^\alpha |f'(a)|^q + m(1-t^\alpha) |f'(b/m)|^q + \varepsilon] dt \right]^{\frac{1}{q}} \\
&= \frac{b-a}{4} \left[\frac{2(2^\alpha \alpha + 1) |f'(a)|^q + m(2^\alpha(\alpha^2 + \alpha + 2) - 2) |f'(b/m)|^q}{2^{\alpha+1}(\alpha+1)(\alpha+2)} + \frac{\varepsilon}{2} \right]^{\frac{1}{q}}.
\end{aligned}$$

Theorem 3.1 is proved. $\square$

Theorem 3.3. *Let $f : \mathbb{R}_0 \rightarrow \mathbb{R}$ be differentiable function on $\mathbb{R}_0$, $a, b \in \mathbb{R}_0$ with $a < b$, and $f' \in L_1([a, b])$. If $|f'|^q$ is (α, m) - ε -convex on $[0, \frac{b}{m}]$ for constant $\varepsilon \geq 0$, $\lambda \geq 0$, $(\alpha, m) \in (0, 1]^2$ and $q > 1$, then*

$$\left| \frac{1}{\lambda+2} \left[f(a) + \lambda f \left(\frac{a+b}{2} \right) + f(b) \right] - \frac{1}{b-a} \int_a^b f(x) dx \right|$$

$$\begin{aligned}
&\leq \frac{b-a}{4} \left(\frac{\lambda^{\frac{2q-1}{q-1}} + 2^{\frac{2q-1}{q-1}}}{(\lambda+2)^{\frac{2q-1}{q-1}}} \right)^{1-\frac{1}{q}} \left\{ \left[\frac{1}{\alpha+1} |f'(a)|^q + \frac{\alpha m}{\alpha+1} \left| f' \left(\frac{a+b}{2m} \right) \right|^q + \varepsilon \right]^{\frac{1}{q}} \right. \\
&\quad \left. + \left[\frac{1}{\alpha+1} \left| f' \left(\frac{a+b}{2} \right) \right|^q + \frac{\alpha m}{\alpha+1} \left| f' \left(\frac{b}{m} \right) \right|^q + \varepsilon \right]^{\frac{1}{q}} \right\}. \tag{3.6}
\end{aligned}$$

Proof. From the Lemma 2.2 and the Hölder's integral inequality, by the (α, m) - ε -convexity of function $|f'|^q$, we have

$$\begin{aligned}
&\left| \frac{1}{\lambda+2} \left[f(a) + \lambda f \left(\frac{a+b}{2} \right) + f(b) \right] - \frac{1}{b-a} \int_a^b f(x) dx \right| \\
&\leq \frac{b-a}{4} \left\{ \left(\int_0^1 \left| t - \frac{\lambda}{\lambda+2} \right|^{\frac{q}{q-1}} dt \right)^{1-\frac{1}{q}} \left[\int_0^1 \left(t^\alpha |f'(a)|^q \right. \right. \right. \\
&\quad \left. \left. + m(1-t^\alpha) \left| f' \left(\frac{a+b}{2m} \right) \right|^q + \varepsilon \right) dt \right]^{\frac{1}{q}} + \left(\int_0^1 \left| t - \frac{2}{\lambda+2} \right|^{q/(q-1)} dt \right)^{1-\frac{1}{q}} \\
&\quad \left. \times \left[\int_0^1 \left(t^\alpha \left| f' \left(\frac{a+b}{2} \right) \right|^q + m(1-t^\alpha) \left| f' \left(\frac{b}{m} \right) \right|^q + \varepsilon \right) dt \right]^{\frac{1}{q}} \right\} \\
&= \frac{b-a}{4} \left(\frac{\lambda^{\frac{2q-1}{q-1}} + 2^{\frac{2q-1}{q-1}}}{(\lambda+2)^{\frac{2q-1}{q-1}}} \right)^{1-\frac{1}{q}} \left\{ \left[\frac{1}{\alpha+1} |f'(a)|^q + \frac{\alpha m}{\alpha+1} \left| f' \left(\frac{a+b}{2m} \right) \right|^q + \varepsilon \right]^{\frac{1}{q}} \right. \\
&\quad \left. + \left[\frac{1}{\alpha+1} \left| f' \left(\frac{a+b}{2} \right) \right|^q + \frac{\alpha m}{\alpha+1} \left| f' \left(\frac{b}{m} \right) \right|^q + \varepsilon \right]^{\frac{1}{q}} \right\}.
\end{aligned}$$

Theorem 3.3 is proved. $\square$

Corollary 3.3.1. *Under the assumptions of Theorem 3.3, if $\lambda = 0$, then*

$$\begin{aligned}
&\left| \frac{f(a) + f(b)}{2} - \frac{1}{b-a} \int_a^b f(x) dx \right| \leq \frac{b-a}{4} \left\{ \left[\frac{1}{\alpha+1} |f'(a)|^q \right. \right. \\
&\quad \left. \left. + \frac{\alpha m}{\alpha+1} \left| f' \left(\frac{a+b}{2m} \right) \right|^q + \varepsilon \right]^{\frac{1}{q}} + \left[\frac{1}{\alpha+1} \left| f' \left(\frac{a+b}{2} \right) \right|^q + \frac{\alpha m}{\alpha+1} \left| f' \left(\frac{b}{m} \right) \right|^q + \varepsilon \right]^{\frac{1}{q}} \right\}.
\end{aligned}$$

Theorem 3.4. *Let $f : \mathbb{R}_0 \rightarrow \mathbb{R}$ be differentiable function on $\mathbb{R}_0$, $a, b \in \mathbb{R}_0$ with $a < b$, and $f' \in L_1([a, b])$. If $|f'|^q$ is (α, m) - ε -convex on $[0, \frac{b}{m}]$ for constant $\varepsilon \geq 0$, and $(\alpha, m) \in (0, 1]^2$ and $q > 1$, then*

$$\begin{aligned}
&\left| \frac{f(a) + f(b)}{2} - \frac{1}{b-a} \int_a^b f(x) dx \right| \\
&\leq \frac{b-a}{4} \left(\frac{q-1}{2q-1} \right)^{1-\frac{1}{q}} \left[\frac{|f'(a)|^q + \alpha m |f'(b/m)|^q}{\alpha+1} + \varepsilon \right]^{\frac{1}{q}}. \tag{3.7}
\end{aligned}$$

Proof. Since $|f'|^q$ is (α, m) - ε -convex function on $[0, \frac{b}{m}]$, from the Lemma 2.3 and Hölder's integral inequality, we have that

$$\left| \frac{f(a) + f(b)}{2} - \frac{1}{b-a} \int_a^b f(x) dx \right|$$

$$\begin{aligned}
&\leq \frac{b-a}{2} \int_0^1 |1-2t| |f'(ta+(1-t)b)|^q dt \\
&\leq \frac{b-a}{2} \left[\int_0^1 |1-2t|^{q/(q-1)} dt \right]^{1-\frac{1}{q}} \left[\int_0^1 [t^\alpha |f'(a)|^q + m(1-t^\alpha) |f'(b/m)|^q + \varepsilon] dt \right]^{\frac{1}{q}} \\
&= \frac{b-a}{4} \left(\frac{q-1}{2q-1} \right)^{1-\frac{1}{q}} \left[\frac{|f'(a)|^q + \alpha m |f'(b/m)|^q}{\alpha+1} + \varepsilon \right]^{\frac{1}{q}}.
\end{aligned}$$

Theorem 3.4 is proved. $\square$

Theorem 3.5. For $n \in \mathbb{N}_+$ and $n \geq 2$, let $f : \mathbb{R}_0 \rightarrow \mathbb{R}$ be differentiable function on $\mathbb{R}_0$, $a, b \in \mathbb{R}_0$ with $a < b$, and $f' \in L_1([a, b])$. If $|f'|$ is (α, m) - ε -convex on $[0, \frac{b}{m}]$ for constant $\varepsilon \geq 0$, $\lambda \geq 0$ and $(\alpha, m) \in (0, 1]^2$, then

$$\begin{aligned}
&\left| \frac{1}{n(\lambda+2)} \left[f(a) + 2 \sum_{k=1}^{n-1} f(x_{2k}) + \lambda \sum_{k=1}^n f(x_{2k-1}) + f(b) \right] - \frac{1}{b-a} \int_a^b f(x) dx \right| \\
&\leq \frac{b-a}{4n^2} \sum_{k=1}^n \left[A(\alpha, \lambda) |f'(x_{2k-2})| + m(C(\lambda) - A(\alpha, \lambda)) |f'(x_{2k-1}/m)| \right. \\
&\quad \left. + B(\alpha, \lambda) |f'(x_{2k-1})| + m(C(\lambda) - B(\alpha, \lambda)) |f'(x_{2k}/m)| + 2\varepsilon C(\lambda) \right], \quad (3.8)
\end{aligned}$$

where $x_k = a + \frac{k(b-a)}{2n}$ ($k = 0, 1, \dots, 2n$) and $A(\alpha, \lambda)$, $B(\alpha, \lambda)$ and $C(\alpha)$ are defined by (3.2) and (3.3) respectively.

Proof. Since $|f'|$ is (α, m) - ε -convex function on $[0, \frac{b}{m}]$, from the Lemma 2.1 and Hölder's integral inequality, we have that

$$\begin{aligned}
&\left| \frac{1}{n(\lambda+2)} \left[f(a) + 2 \sum_{k=1}^{n-1} f(x_{2k}) + \lambda \sum_{k=1}^n f(x_{2k-1}) + f(b) \right] - \frac{1}{b-a} \int_a^b f(x) dx \right| \\
&\leq \frac{b-a}{4n^2} \left[\sum_{k=1}^n \int_0^1 \left| t - \frac{\lambda}{\lambda+2} \right| |f'(tx_{2k-2} + (1-t)x_{2k-1})| dt \right. \\
&\quad \left. + \sum_{k=1}^n \int_0^1 \left| t - \frac{2}{\lambda+2} \right| |f'(tx_{2k-1} + (1-t)x_{2k})| dt \right] \\
&\leq \frac{b-a}{4n^2} \left\{ \sum_{k=1}^n \int_0^1 \left| t - \frac{\lambda}{\lambda+2} \right| \left[t^\alpha |f'(x_{2k-2})| + m(1-t^\alpha) |f'(x_{2k-1}/m)| + \varepsilon \right] dt \right. \\
&\quad \left. + \sum_{k=1}^n \int_0^1 \left| t - \frac{2}{\lambda+2} \right| \left[t^\alpha |f'(x_{2k-1})| + m(1-t^\alpha) |f'(x_{2k}/m)| + \varepsilon \right] dt \right\} \\
&= \frac{b-a}{4n^2} \sum_{k=1}^n \left[A(\alpha, \lambda) |f'(x_{2k-2})| + m(C(\lambda) - A(\alpha, \lambda)) |f'(x_{2k-1}/m)| \right. \\
&\quad \left. + B(\alpha, \lambda) |f'(x_{2k-1})| + m(C(\lambda) - B(\alpha, \lambda)) |f'(x_{2k}/m)| + 2\varepsilon C(\lambda) \right]. \quad (3.9)
\end{aligned}$$

The proof of Theorem 3.5 is thus completed. $\square$

Corollary 3.5.1. *Under the assumptions of Theorem 3.3, then*

$$\begin{aligned} & \left| \frac{1}{n(\lambda+2)} \left[f(a) + 2 \sum_{k=1}^{n-1} f(x_{2k}) + \lambda \sum_{k=1}^n f(x_{2k-1}) + f(b) \right] - \frac{1}{b-a} \int_a^b f(x) dx \right| \\ & \leq \frac{b-a}{4n} \left\{ [(1-m)(A(\alpha, \lambda) + B(\alpha, \lambda)) + 2mC(\lambda)] \sup_{a \leq x \leq b/m} |f'(x)| + 2\varepsilon C(\lambda) \right\}. \end{aligned}$$

Theorem 3.6. *For $n \in \mathbb{N}_+$ and $n \geq 2$, let $f : \mathbb{R}_0 \rightarrow \mathbb{R}$ be differentiable function on $\mathbb{R}_0$, $a, b \in \mathbb{R}_0$ with $a < b$, and $f' \in L_1([a, b])$. If $|f'|$ is m - ε -convex on $[0, \frac{b}{m^2}]$ for constant $\varepsilon \geq 0$ and $m \in (0, 1]$, then*

$$\begin{aligned} & \left| \frac{1}{n(\lambda+2)} \left[f(a) + 2 \sum_{k=1}^{n-1} f(x_{2k}) + \lambda \sum_{k=1}^n f(x_{2k-1}) + f(b) \right] - \frac{1}{b-a} \int_a^b f(x) dx \right| \\ & \leq \frac{b-a}{8n^2} \left[\frac{3n(\lambda^2+4)(\lambda+2) + \lambda^3 + 12\lambda + 16}{6(\lambda+2)^3} |f'(a)| \right. \\ & \quad + m \frac{3n(\lambda^2+4)(\lambda+2) - (\lambda^3 + 12\lambda + 16)}{6(\lambda+2)^3} \left(\left| f'\left(\frac{a}{m}\right) \right| + \left| f'\left(\frac{b}{m}\right) \right| \right) \\ & \quad \left. + m^2 \frac{3n(\lambda^2+4)(\lambda+2) + \lambda^3 + 12\lambda + 16}{6(\lambda+2)^3} \left| f'\left(\frac{b}{m^2}\right) \right| + \frac{2\varepsilon(\lambda^2+4)}{(\lambda+2)^2} \right]. \quad (3.10) \end{aligned}$$

Proof. By the (3.9) and the m - ε -convexity of the function $|f'|$, we have that

$$\begin{aligned} & \left| \frac{1}{n(\lambda+2)} \left[f(a) + 2 \sum_{k=1}^{n-1} f(x_{2k}) + \lambda \sum_{k=1}^n f(x_{2k-1}) + f(b) \right] - \frac{1}{b-a} \int_a^b f(x) dx \right| \\ & \leq \frac{b-a}{4n^2} \sum_{k=1}^n \left[A(\alpha, \lambda) |f'(x_{2k-2})| + m(C(\lambda) - A(\alpha, \lambda)) |f'(x_{2k-1}/m)| \right. \\ & \quad \left. + B(\alpha, \lambda) |f'(x_{2k-1})| + m(C(\lambda) - B(\alpha, \lambda)) |f'(x_{2k}/m)| + 2\varepsilon C(\lambda) \right] \\ & \leq \frac{b-a}{4n^2} \sum_{k=1}^n \left\{ \frac{\lambda^3 + 12\lambda + 16}{6(\lambda+2)^3} \left[\frac{2n - (2k-2)}{2n} |f'(a)| + \frac{m(2k-2)}{2n} \left| f'\left(\frac{b}{m}\right) \right| \right] \right. \\ & \quad + \frac{m(\lambda^3 + 3\lambda^2 + 4)}{3(\lambda+2)^3} \left[\frac{2n - (2k-1)}{2n} \left| f'\left(\frac{a}{m}\right) \right| + \frac{m(2k-1)}{2n} \left| f'\left(\frac{b}{m^2}\right) \right| \right] \\ & \quad + \frac{\lambda^3 + 3\lambda^2 + 4}{3(\lambda+2)^3} \left[\frac{2n - (2k-1)}{2n} |f'(a)| + \frac{m(2k-1)}{2n} \left| f'\left(\frac{b}{m}\right) \right| \right] \\ & \quad \left. + \frac{m(\lambda^3 + 12\lambda + 16)}{6(\lambda+2)^3} \left[\frac{2n - 2k}{2n} \left| f'\left(\frac{a}{m}\right) \right| + \frac{2km}{2n} \left| f'\left(\frac{b}{m^2}\right) \right| \right] + \frac{2\varepsilon(\lambda^2+4)}{2(\lambda+2)^2} \right\} \\ & = \frac{b-a}{8n^2} \left[\frac{3n(\lambda^2+4)(\lambda+2) + \lambda^3 + 12\lambda + 16}{6(\lambda+2)^3} |f'(a)| \right. \\ & \quad + m \frac{3n(\lambda^2+4)(\lambda+2) - (\lambda^3 + 12\lambda + 16)}{6(\lambda+2)^3} \left(\left| f'\left(\frac{a}{m}\right) \right| + \left| f'\left(\frac{b}{m}\right) \right| \right) \\ & \quad \left. + m^2 \frac{3n(\lambda^2+4)(\lambda+2) + \lambda^3 + 12\lambda + 16}{6(\lambda+2)^3} \left| f'\left(\frac{b}{m^2}\right) \right| + \frac{2\varepsilon(\lambda^2+4)}{(\lambda+2)^2} \right]. \end{aligned}$$

The proof of Theorem 3.6 is thus completed. $\square$

Corollary 3.6.1. *Under the assumptions of Theorem 3.3, we have*

(1) *if $\lambda = 4$, then*

$$\begin{aligned} & \left| \frac{1}{n(\lambda+2)} \left[f(a) + 2 \sum_{k=1}^{n-1} f(x_{2k}) + 4 \sum_{k=1}^n f(x_{2k-1}) + f(b) \right] - \frac{1}{b-a} \int_a^b f(x) dx \right| \\ & \leq \frac{b-a}{1536n^2} \left[(45n+16)|f'(a)| + m(45n-16) \left(\left| f' \left(\frac{a}{m} \right) \right| + \left| f' \left(\frac{b}{m} \right) \right| \right) \right. \\ & \quad \left. + m^2(45n+16) \left| f' \left(\frac{b}{m^2} \right) \right| + 180\varepsilon \right]; \end{aligned} \quad (3.11)$$

(2) *if $\lambda = 0$, then*

$$\begin{aligned} & \left| \frac{1}{2n} \left[f(a) + 2 \sum_{k=1}^{n-1} f(x_{2k}) + f(b) \right] - \frac{1}{b-a} \int_a^b f(x) dx \right| \\ & \leq \frac{b-a}{48n^2} \left[(3n+2)|f'(a)| + m(3n-2) \left(\left| f' \left(\frac{a}{m} \right) \right| + \left| f' \left(\frac{b}{m} \right) \right| \right) \right. \\ & \quad \left. + m^2(3n+2) \left| f' \left(\frac{b}{m^2} \right) \right| + 12\varepsilon \right]. \end{aligned} \quad (3.12)$$

Acknowledgements. This work was partially supported by the National Natural Science Foundation under Grant No. 61373067 and No. 61672301 of China and by the Inner Mongolia Autonomous Region Natural Science Foundation Project under Grant No. 2015MS0123, China.

REFERENCES

- [1] S. S. Dragomir and R. P. Agarwal, *Two inequalities for differentiable mappings and applications to special means of real numbers and to trapezoidal formula*, Appl. Math. Lett. **11** (1998), no. 5, 91–95; Available online at [http://dx.doi.org/10.1016/S0893-9659\(98\)00086-X](http://dx.doi.org/10.1016/S0893-9659(98)00086-X). 2, 4
- [2] S. S. Dragomir and G. Toader, *Some inequalities for m -convex functions*, Studia Univ. Babeş-Bolyai Math. **38** (1993), no. 1, 21–28. 2
- [3] J. Hua, B.-Y. Xi, and F. Qi, *Inequalities of HermiteCHadamard type involving an s -convex function with applications*, Applied Mathematics and Computation **246** (2014), 752–760; Available online at <http://dx.doi.org/10.1016/j.amc.2014.08.042>.
- [4] U. S. Kirmaci, *Inequalities for differentiable mappings and applications to special means of real numbers to midpoint formula*, Appl. Math. Comp. **147** (2004), no. 1, 137–146; Available online at [http://dx.doi.org/10.1016/S0096-3003\(02\)00657-4](http://dx.doi.org/10.1016/S0096-3003(02)00657-4).
- [5] D. H. Hyers, S.M. Ulam, *Approximately convex functions*, Proc. Amer. Math. Soc., **3** (1952) 821–828. 1
- [6] M. Klaričić Bakula, M. E. Özdemir, and J. Pečarić, *Hadamard type inequalities for m -convex and (α, m) -convex functions*, J. Inequal. Pure Appl. Math. **9** (2008), no. 4, Art. 96, 12 pages; Available online at <http://www.emis.de/journals/JIPAM/article1032.html>.
- [7] V. G. Miheşan, *A generalization of the convexity*, Seminar on Functional Equations, Approx. Convex, Cluj-Napoca, 1993. (Romania) 1

- [8] C. E. M. Pearce and J. Pečarić, *Inequalities for differentiable mappings with application to special means and quadrature formula*, Appl., **13** (2000), 51–55. 2
- [9] F. Qi and B.-Y. Xi, *Some Hermite-Hadamard type inequalities for geometrically quasi-convex functions*, Proceedings of the Indian Academy of Sciences (Mathematical Sciences) **124** (2014), no. 3, 333–342; Available online at <http://dx.doi.org/10.1007/s12044-014-0182-7>.
- [10] F. Qi, T.-Y. Zhang, and B.-Y. Xi, *Integral inequalities of Hermite-Hadamard type for functions whose first derivatives are of convexity*, Ukrainian Mathematical Journal **66** (2015), no. 4, 625–640; Available online at <http://dx.doi.org/10.1007/s11253-015-1103-3>.
- [11] G. Toader, *Some generalizations of the convexity*, in: Proceedings of the Colloquium on Approximation and Optimization (Cluj-Napoca, 1985), Univ. Cluj-Napoca, Cluj, 1985, 329–338. 1
- [12] B.-Y. Xi and F. Qi, *Hermite-Hadamard type inequalities for geometrically r -convex functions*, Studia Scientiarum Mathematicarum Hungarica, **51** (2014), no.4, 530–546; Available online at <http://dx.doi.org/10.1556/SScMath.51.2014.4.1294>.
- [13] B.-Y. Xi and F. Qi, *Inequalities of Hermite-Hadamard type for extended s -convex functions and applications to means*, Journal of Nonlinear and Convex Analysis **16** (2015), no.5, 873–890.
- [14] B.-Y. Xi, S.-H. Wang, and F. Qi, *Some inequalities for (h, m) -convex functions*, Journal of Inequalities and Applications 2014, **2014**:100, 12 pages; Available online at <http://dx.doi.org/10.1186/1029-242X-2014-100>.
- [15] B.-Y. Xi, T.-Y. Zhang, and F. Qi, *Some inequalities of Hermite-Hadamard 1 type for m -harmonic-arithmetically convex functions*, ScienceAsia **41** (2015), no.5, 357–361; Available online at <http://dx.doi.org/10.2306/scienceasia1513-1874.2015.41.357>.

(Zhang) COLLEGE OF COMPUTER SCIENCE AND TECHNOLOGY, JILIN UNIVERSITY, CHANGCHUN 130012, CHINA; COLLEGE OF COMPUTER SCIENCE AND TECHNOLOGY, INNER MONGOLIA UNIVERSITY FOR NATIONALITIES, TONGLIAO CITY, INNER MONGOLIA AUTONOMOUS REGION, 028043, CHINA

E-mail address: Zhangjun728@163.com

(Pei) COLLEGE OF COMPUTER SCIENCE AND TECHNOLOGY, INNER MONGOLIA UNIVERSITY FOR THE NATIONALITIES, TONGLIAO CITY, INNER MONGOLIA AUTONOMOUS REGION, 028043, CHINA

E-mail address: zhilipei@sina.com

(Xu) COLLEGE OF COMPUTER SCIENCE AND TECHNOLOGY, JILIN UNIVERSITY, CHANGCHUN 130012, CHINA.

E-mail address: xugc@jlu.edu.cn

(Zhou) COLLEGE OF COMPUTER SCIENCE AND TECHNOLOGY, JILIN UNIVERSITY, CHANGCHUN 130012, CHINA.

E-mail address: 496072945@qq.com

(Qi) SCHOOL OF MATHEMATICS AND INFORMATICS, HENAN POLYTECHNIC UNIVERSITY, JIAOZUO CITY, HENAN PROVINCE, 454010, CHINA; DEPARTMENT OF MATHEMATICS, SCHOOL OF SCIENCE, TIANJIN POLYTECHNIC UNIVERSITY, TIANJIN CITY, 300387, CHINA

E-mail address: qifeng618@gmail.com, qifeng618@hotmail.com, qifeng618@qq.com

URL: <http://qifeng618.wordpress.com>